
Q1
Rearrange the following formulas to make the letter in brackets the new subject:



a)
y = x + 4        (x)

b)
a = 7b + 10    (b)



c)
g = 10 – 4h    (h)

d)
y = 5(x + 2)   (x)



e)
g = -(h + 2)    (h)

f)
j = -2(3 – k)   (k)

Q2
The rectangle has length L cm and width W cm.  Its perimeter is P cm.

a) Write down a formula with P as the subject.

b) Rearrange this to make L the subject.                         


  W cm

c) Find the length of a rectangle of width

7.5 cm and perimeter 44 cm.


           
L cm

Q3
Rearrange each of these scientific formulas to make the letter in brackets the new subject:



a)
C = 2pr        (r)

b)
A = pr2     (r)

   

c)
V = u + at    (t)

d)

[image: image1.wmf]2

2

1

mv

E

=

   (v)



e)

[image: image2.wmf]gh

V

2

=

       (g)

f)

[image: image3.wmf]100

PRT

I

=

    (R)

Q4
The cost of developing a film is 12p per print plus 60p postage.


a) Find the cost of developing a film with
 i)
12 prints

ii) 24 prints

b)
Write down the formula for cost C, in pence, of developing x prints.

c)
Rearrange the formula to make x the subject.
d) Find the number of prints developed when a customer is charged

i)
£4.92

ii)
£6.36

iii)
£12.12

Exam style questions

Q5
A formula is  
[image: image4.wmf]ut

x

v

=

 .  Rearrange to make t the subject of the formula.

(2 marks)

Q6
O is the centre of a circle of radius r cm.


AB is the arc of the circle of length x cm 

and 
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The length x cm of the arc AB is given by 

the formula   
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a) Find the length of the arc AB when 
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= 80( and the radius is 4.5 cm.

          b)      Rewrite the formula in the form
y = …….




(3 marks)


Q1
a)
x = y – 4

b)
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c)



d)
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  (6 marks)

Q2
a)
P = 2(L + W)

b) L = P/2 - W

c) L = 14.5 cm








  (3 marks)

Q3
a)



b)


c)



d)

e)  


f) 







  (6 marks)

Q4
a)
i)
204p

a. 348p

b) C = 12x + 60

c) x =  c/12 – 60

d) i)
36 prints

ii) 48 prints

iii) 96 prints








(7 marks)

Exam style questions

Q5


(2 marks)

Q6
a)
6.28 cm


(1 mark)


b) 

(2 marks)
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